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Economics 257

Microeconomics and Macroeconomics'

Adam Smith® is usually considered the founder of the field of microeconomics, the
branch of economics which today is concerned with the behavior of individual entities such as
markets, firms, and households.’ In The Wealth of Nations,® Smith considered how
individual prices are set, studied the determination of prices of land, labor, and capital, and
inquired into the strengths and weaknesses of the market mechanism. Most important, he
identified the remarkable efficiency properties of markets and saw that economic benefit
comes from the self-interested actions of individuals. All these are still important issues
today, and while the study of microeconomics has surely advanced greatly since Smith’s day,
he is still cited by politicians and economists alike.

The other major branch of our subject is macroeconomics, which is concerned with the
overall performance of the economy. Macroeconomics did not even exist in its modern form
until 1935, when John Maynard Keynes published his revolutionary General Theory of
Employment, Interest and Money.>® At the time, England and the United States were still
stuck in the Great Depression of the 1930s, and over one-quarter of the American labor force
was unemployed. In his new theory Keynes developed an analysis of what causes
unemployment and economic downturns, how investment and consumption are determined,
how central banks manage money and interest rates, and why some nations thrive while
others stagnate. ’ Keynes also argued that governments had an important role in smoothing out
the ups and downs of business cycles. Although macroeconomics has progressed far since his
first insights, the issues addressed by Keynes still define the study of macroeconomics today.

The two branches—microeconomics and macroeconomics—converge to form modern

economics. At one time the boundary between the two areas was quite distinct; more
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recently, the two sub-disciplines have merged as economists have applied the tools of
microeconomics to such topics as unemployment and inflation. *

In microeconomics we look at individual markets; in macroeconomics we study the
economy as a whole. The distinction is important. In microeconomics we might examine the
effects of an increase in the price of tomatoes. We can apply the Law of Demand which tells
us that—all other things remaining the same—the quantity of tomatoes that people will
purchase will go down when the price goes up. We can introduce the concept of price
elasticity of demand and attempt to measure how large or small an effect the price increase
will have on the quantity purchased. In macroeconomics we might examine the effects of
inflation—all prices going up at once. Obviously, the outcome will be quite different.

We would need to make the same type of distinction if we were studying labor markets.
If the wages of a particular type of labor—short-order cooks, for example—were to increase
we could predict that employers would find ways to get by with fewer hours of that type of
labor. * That is microeconomics. But if wages were to increase across the entire economy,
prediction would be much more complicated. When we just study the wages of short-order
cooks, we can ignore the effect that their extra earnings will have on their demand for goods
and services since they make up a small proportion of the workforce. But when all wages go
up, the effect on overall demand is too large to ignore—so we will have to apply the theories
of macroeconomics.

In short, microeconomics is the economics of one thing at a time and macroeconomics is

the economics of everything at once.

@ Words and Expressions
thrive v. SCBE, #05R , ALK, EE &
stagnate v. (4% ) # &, (&)1

microeconomics n. &2 FF
macroeconomics n. W25

individual n. ANA,AMK adj. AF18G, $4%
o, NAE

household n. P adj. FE#

determination n. 3 &

inquire into K%

mechanism n. L]

identify v. #iA ,7A

overall adj. A3, @&

revolutionary adj. ¥ %44

stick v. #54E , 45 1E

unemployment n. % ik

consumption n. H %

converge v. B4, £ F— %
at one time F] A&, ¥ £
subdiscipline n. ( ##}89) 4 %, 54+
merge v. 43, FA

inflation n. i@ 3% i ik
distinction n. X 5|, £ 51

Law of Demand & K #L4&
purchase v. M) %

concept n. A, A
elasticity of demand & K 3%
predict v. FiZ

get by i@ id, il
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ignore v. Z.w& workforce n. %3 A
proportion n. A v. 4% % KA

- - W W e W e e s

1. This article is extracted from Economics ( sixteenth edition, Paul A. Samuelson and
William D. Nordhaus, published by China Machine Press) http://distance-ed. bcc. ctc.
edu/econ/econ200/intropage. htm

2. Adam Smith ¥4 - %% (1723 —1790)

18 A EPERK B HER, RN RET i AR EFEBEREAZ —, HA
RIERCEEIR)

3. Adam Smith is usually considered the founder of the field of microeconomics, the branch

of economics which today is concerned with the behavior of individual entities such as
markets, firms, and households.
WA Es —AN4r/A] B 3 /4] . the branch. . . £E microeconomics f¥ [i] {37 15 ; which 5| (1)
SE18 M HJYE the branch of economics [J5E 1, &AIE N WY - Wil ¥ 808 MM
ZUFFRBEEEN A RIMORAE T2 5 8 £ INT 5 b MEEFT A RE—1
GTFFI o

4. The Wealth of Nations {[E&it)

ZA R TRA E R RS, B B8 T E A OB EEK, #EH]
W T B Y BT IS, XA E R AT S S BE T REMHR, B A58
—IMREMERMGETTEZEE" . ERIEE LY - S RIRE TBORA U h
IR“BISLE” PR S

5. General Theory of Employment, Interest and Money i . F) A6 HEE) ( FFRGE

w))
PSR B iR T — ELE = B AL 8 BOR T H T K BB, it R X R
b SR A 438, R LB 3 SO R A R, CGEIE ) B9 — AL, SR A AL
TR R/ g gl B H =R, BT A R oK, 2 T T 45 9% 4% 53 R S R AT i 4
SRTR AR A 2 BT R REAMA TR B R AR ML &0 R BRI
WA« 244k XAl A= 7 7 i B T SRS B 2 B, B A 8 Al st A 7 AR BT (TR R)
T XA B, LGS T AR, SRl 9 248 S5 R R B8 7 BT A & i 1R T
R (CELF R T ) b 3R BTG A . 0 SR b AR AT Y E TR R R B s D , TR R TR E Y
MR RE, MFA T B B SRR, A #1778 0 3% iR w >, F
RF KA BETE /0 52, B RS FI b Bt it 25 2 SRR -, ik st B = AR 2Rl

6. Macroeconomics did not even exist in its modern form until 1935, when John Maynard
Keynes published his revolutionary General Theory of Employment, Interest and Money.
I AJIETE 4 did not even exist, when 5| R E B MNA], AN WA EWAEFFEHT
1935 4EP U A Stk B 2 Oalolk LB S5 3R TE I8 ) 2 J5 A TE
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7. In his new theory Keynes developed an analysis of what causes unemployment and
economic downturns, how investment and consumption are determined, how central banks
manage money and interest rates, and why some nations thrive while others stagnate.
/4] 3184 Keynes, In his new theory JRi& R E , what, how, why 5|5 ) M AJ#HR & of
MEE, &R EHFEE S, PRI T T R AZSE T a9 |, B A 9%
WA YE , A JARAT Anfal B R 6% T Je R 3R, DR o)A L8 [ 53 R okt T A7 LE 4553 AN o

8. At one time the boundary between the two areas was quite distinct; more recently, the two
sub-disciplines have merged as economists have applied the tools of microeconomics to
such topics as unemployment and inflation.

WA B AR, R — 2 A1 & A as 51 RPURTE WA, AT : PR SU A 7
PR 8 22 AR BH 8., (BT K i F AT = R A HERM AT 2 TR T 5 b AU 57 2 ik 45 23 1
P T RS

9. If the wages of a particular type of labor—short-order cooks, for example—were to
increase we could predict that employers would find ways to get by with fewer hours of
that type of labor.

I SR B (Y IR S, WETTETE A were to, FAJIHIER could, 4] K . MR FA 35
B 7 T HEHE N (B ansa eI ) , JoAi 1T 15 R £ A8 BOE AN AT B T EA .

g Exercises

I. Answer the following questions according to the text.

1. Who is considered the founder of microeconomics? What about macroeconomics?
2. What is The Wealth of Nations mainly about?

3. What is macroeconomics concerned with?

4. According to the text, how is macroeconomics defined?

5. Why have the two subdisciplines merged?

6. Why would employers find ways to decrease the hours of certain type of labor?

II. Fill in the blanks with the words or phrases given below, and change the form if
necessary.

» exist what concern smooth out at
D N S D S N T TN T TN D SN

The other major branch of our subject is macroeconomics, which is 1  with the
overall performance of the economy. Macroeconomics did not even 2 in its modern form
until 1935, when John Maynard Keynes published his revolutionary General Theory of
Employment, Interest and Money. 3  the time, England and the United States were still

stuck in the Great Depression of the 1930s, and over one-quarter of the American labor force
was unemployed. In his new theory Keynes developed an analysis of 4 causes
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unemployment and economic downturns, how investment and consumption are determined,
how central banks manage money and interest rates, and why some nations thrive while
others stagnate. Keynes also argued that governments had an important role in 5 the ups

and downs of business cycles. Although macroeconomics has progressed far since his first
insights, the issues addressed by Keynes still define the study of macroeconomics today.

III. Translate the following sentences into English with the words or phrases in the
brackets.

F BA A~ A 34 8] 20 b 35 E € (individual )

REBKBERAE R /DA G, L5 — 2RI A ZEE (household) .

ATk — A 5 (inquire into) ,

ARFH A B B A A& T A1 (consumption)

S BN R RS e 42 ) A Bk i€ T (inflation) .

“n B W N =

IV. Translate the following sentences into Chinese. Pay attention to the italicized parts.

1. I have taken more than 50 courses in college, including microeconomics, macroeconomics,
marketing principles, sales management, and statistics, etc.

2. Passengers were asked to identify their own suitcases before they were put on the plane.

3. Economic development of that country was stagnating in the last four months.

4. The law of demand tells us that generally consumers will buy more products as their prices
go down.

5. A quarter of the local workforce was unemployed after the financial crisis.

The Income-Expenditure Model’

Macroeconomic Equilibrium

We’re making a model of the entire national economy, or macroeconomy. We base it on
the following idea: if total output exceeds what people want to buy, there will be stuff left
over—which means that inventories of unsold goods will rise. > On the other hand if people
want to buy more than is produced during some period, what will happen is that previously-
accumulated inventories of goods will fall.

Think about a shoe store. It has a certain amount of inventory that it wants to keep on
hand at all times so as to be able to meet normal customer demand. If customers buy shoes at
a slower rate than it gets new shipments from the manufacturers, inventory will rise. If on the
other hand customers buy shoes at a more rapid pace than it gets shipments from the factory ,
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inventory falls. Think about the entire economy this way and you understand how we think
output adjusts to demand.

Equilibrium just means a position of stability. If inventories are rising, we are not in
equilibrium because too many goods are being made, and sooner or later factories are going
to have to cut production because the current level of output is not sustainable. * If inventories
are falling, we are not in equilibrium because too few goods are being made, and sooner or
later factories are going to have to increase production. * In other words macro-equilibrium is
when total output is equal to total desired expenditures. We believe that the national economy
will move toward such a macro-equilibrium on its own.

When we set up our macro-framework, we said that C + I + G = Y ( consumption +
investment + government purchase = Income) .’

In other words the three components of demand equal output. So does this mean we’re
always in macro-equilibrium? No. The key here is I, or capital investment. “I” includes
accumulation of inventory, whether firms want it or not. In other words, in order to make
our national income accounting framework hang together, we just assigned any unsold output
to [—it’s like saying to a firm: if you made it and didn’t sell it, you bought it. In other
words for the purpose of making our accounting framework add up, inventory change is a
sort of shock absorber that makes demand equal to output.

”

So let’s distinguish between “planned investment,” or Ip, and total investment, which
is Ip plus unintended inventory changes.® So while C + I + G = Y is always true, C +
Ip + G = Y is only true when we are in macro-equilibrium. In other words, since we said
I = Ip + unplanned inventory change, we have macro-equilibrium only when unplanned

inventory change = 0 which is what we said above.

Aggregate Supply and Aggregate Demand

Let’s repeat our macro-equilibrium condition C + Ip + G = Y.

And read it this way: we have macro-equilibrium when people want to buy all the goods
that firms produce. The income-expenditure model therefore zeroes in on the problem that
firms face in a modern capitalist economy of figuring out how much to make and offer for
sale in any given period. ’ Because production and transport of goods takes a lot of time, a
firm may have to predict consumer demand for its output a year or more in advance.

In the income-expenditure model, total output responds to the demand for it. In other
words, aggregate supply is driven by aggregate demand. ( Not all models work like this. )
That means that to figure out what the equilibrium level of output is, we have to figure out
how much demand there is. * That means that we have to know what determines the levels of
C, Ip, and G.

In this particular model, the answers for the last two are easy. We will assume they are
fixed and unchanging. We will assume that businesses make plans about how much capital
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equipment they want to acquire, and do not change those plans. We will assume that G is set
through some political process. We will similarly assume that T is fixed. In fancier language,
G, Ip, and T are “exogenous” to this model.

That leaves C, which is at the center of this model. What determines how much
consumers spend? Well, their income, Y. But we’ve just said that Y is partly determined by
C, since C is an element of demand. So C affects Y and Y affects C.

Words and Expressions

expenditure n. % i, 76 % sustainable adj. TVAZ %45, R T X 464,
equilibrium n. P4, 3 %5 FAIFALHY

exceed v. AR, Rt component n. R4~ adj. 4, MR
stuff n. JB#F, AH v, BB A framework n. MJZ2 AEZE &M

inventory n. #%m B &, &% distinguish v. X 5|, % 5|

previous adj. £ %Y, F L unintended adj. % &R, & EH
previously adv. fE------ VAR zero in on (f&)BGAE -+ (f) S A=
accumulate v. R MR figure out ++ 3 ik, f R | 44 3]
manufacturer n. #)i&%, )& financier n. M £, 28 %

stability n. #& % M exogenous adj. [ £ A&, [ W] 5
sooner or later iR §- oy, [E]SPE

current adj. % A%

Notes

G s e e W e wma ek oW e e W W AR AR WS Wes Wee e G e R R G e e e W eSS s dew e e R e e AR e e e s S

1. This article is downloaded from http://faculty. uwb. edu.

2. We base it on the following idea: if total output exceeds what people want to buy, there
will be stuff left over—which means that inventories of unsold goods will rise.
B S5 MNAAE idea H[RIALIE , which 5| M NAIAFRE if 4], &M E R RIATETFL
AR AR R A AT S A TR AR, s RO RS R AR SR R

3. If inventories are rising, we are not in equilibrium because too many goods are being
made, and sooner or later factories are going to have to cut production because the current
level of output is not sustainable.
W) if 5IFRPRTENE], BRI RPN IEFN A4, A5 A A TR R EE A, 4
AR ANRAF BRI I, ROA A i 2 5P AL T AR , | 508 B b A 7= Bk 24 /i i
PR A AT RREE

4. If inventories are falling, we are not in equilibrium because too few goods are being

made, and sooner or later factories are going to have to increase production.

5_ERZEAL, B if 51 AARRIE AT, 8 AN RS LR, BT — 4 A SRR
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ENE, AR AR, A P AP A TAFE , FiZGR B nAE™,

5.C +1 + G = Y (consumption + investment + government purchase = Income)
AR EHE O ERL T IHHEERBEAKMAR, 75 GDP A =FJ5 ik, it & X
Wik WA B g, AXHETETUEAARX: BENESE=C+I1+G +
(X =M) , T8 BN A 7 BIE s ST AT Lz R A B A ™ EBE = T8 + #
B+ A + A + PriH + (EHEBL - BURFAME) ; 7= it B A = BE R & 1T
FAMI G E S, AP AFEHH O,

6. So let’s distinguish between “planned investment,

”

or Ip, and total investment, which is
Ip plus unintended inventory changes.
WA A A fdi/a), which 55 A9 E R il 14 € 15 M A1 4E i investment. 4/a] 8K : ibFRATTX
A rHRIEewE” B Ip LR, EE R RIRE ST RIS AR Z AL

7. The income-expenditure model therefore zeroes in on the problem that firms face in a
modern capitalist economy of figuring out how much to make and offer for sale in any
given period.
F/4JiHiE K zeroes in on, that firms face J&{&1fi problem f¥)EiE M 4], how 5| FHIEEIEM
AE figure out [ FEiE , figuring out /E of HYEETH, RE N I, A —3Z RIS
FET R TG PR AR — 1 a1  BRAR BT AR 32 L T iR B AE P R B 2 DR it o

8. That means that to figure out what the equilibrium level of output is, we have to figure out
how much demand there is.
S—A~ that JEFE/RARIA, 55 A that ZZEECR, 51 R EIENG, BiEMNG ) EA 2
we have to figure out. . . ,what 5|54 a1 I\ FJ4E figure out I EiE, SAEN X E
RELFE L UK REZD, RATE BB FERREZ D,

° Exercises

I. Answer the following questions according to the text.

1. What is the income-equilibrium based on?

2. What does equilibrium mean in economics?

3. What is output composed of?

4. What is the difference between Ip and total investment?

5. What should we figure out before figuring out the level of output?

II. Fill in the blanks with the words or phrases given below, and change the form if
necessary.

) absorber increase sooner or later demand in order to
k@@@@@@@@@@@@@@@@@@@@N@@“«\

y@y@y&@\@y@v\@@w@@y@y@@&yv\yﬁz

Equilibrium just means a position of stability. If inventories are rising, we are not in
equilibrium because too many goods are being made, and 1 factories are going to have
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to cut production because the current level of output is not sustainable. If inventories are
falling, we are not in equilibrium because too few goods are being made, and sooner or later
factories are going to have to 2  production. In other words macro-equilibrium is when
total output is equal to total desired expenditures. We believe that the national economy will
move toward such a macro-equilibrium on its own.
When we set up our macro-framework, we said that C + I + G = Y (consumption +
investment + government purchase = Income).
In other words the three components of 3 equal output. So does this mean we’re
always in macro equilibrium? No. The key here is I, or capital investment. “I” includes
_accumulation of inventory, whether firms want it or not. In other words, 4  make our
national income accounting framework hang together, we just assigned any unsold output to
I—it’s like saying to a firm: if you made it and didn’t sell it, you bought it. In other words
for the purpose of making our accounting framework add up, inventory change is a sort of
shock 5 that makes demand equal to output.
III. Translate the following sentences into English with the words or phrases in the
brackets.
1. REUR A T PR il £ 1 3K 675 | (expenditure)
2. AT B SR BT A TIURE (exceed) .
3. XM I TEASTRAT 28T (stuff) 7
4. RREFE B0 B NBEARIE G (distinguish) .
5. PEFRATEE LRI, SR E B E P TEHE R FZ R E (zero in on) ,

IV. Translate the following sentences into Chinese. Pay attention to the italicized parts.
The inventory will be disposed of over the next twelve weeks.

By investing wisely she accumulated a fortune. _

Faulty goods should be returned to the manufacturer according to the contract.

Whether to go or not, you will have to make a decision sooner or later.
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Have you figured out how much the trip will cost?
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Economics Basics: Production Possibility Frontier
(PPF) and Opportunity Cost'

Production Possibility Frontier ( PPF)
Under the field of macroeconomics, the production possibility frontier (PPF) represents
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the point at which an economy is most efficiently producing its goods and services, and
therefore allocating its resources in the best way possible. ? If the economy is not producing
quantities indicated by the PPF, resources are being managed inefficiently, and the
production of society will dwindle. The production possibility frontier shows there are limits
to production, so an economy, to achieve efficiency, must decide what combination of goods
and services can be produced. ’

Let’s turn to the chart below. Imagine an economy that can produce only wine and
cotton. According to the PPF, points A, B and C—all appearing on the curve—represent the
most efficient use of resources by the economy. Point X represents an inefficient use of
resources, while point Y represents goals that the economy cannot attain with its present

levels of resources.

Production Possibility
Frontier (PPF)

Product A: Wine

Product B: Cotton @

As we can see, in order for this economy to produce more wine, it must give up some
of its resources used to produce cotton (point A). If the economy started producing more
cotton ( represented by points B and C) , it would have to divert resources from making wine
and consequently produce less wine than it is at point A.* As you can see, by moving
production from point A to B, the economy will have to decrease wine production a small
amount in comparison to the increase in cotton output.’ However, if the economy moved
from B to C, wine output would be significantly reduced while the increase in cotton would
not be that much of a move. ® Keep in mind that A, B, and C all represent the most efficient
uses of resources for the economy, and the nation must decide how to achieve the PPF and
which combination to use. If more wine is in demand, the cost of increasing its output is
proportional to the cost of decreasing cotton production.

Point X means that the country’s resources are not being used efficiently, or, more
specifically, given the potential of its resources, the country is not producing enough cotton
or wine. Point Y, as we mentioned above, represents an output level that is currently
unreachable by this economy. However, if there were a change in technology while the level
of land, labor, and capital remained the same, the time required to pick cotton and grapes
would be reduced. Output would increase, and the PPF would be pushed outwards. A new



